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QUESTION 1

A developer is tasked with analyzing a new Web services project and must decide to use either SOAP or REST. Based
on requirements, the developer determines the service must be stateful and have a documented interface and data
types that clients can discover dynamically. Which two statements are true? (Choose two.)

A. The SOAP approach consists of resources identified by unique URIs.

B. SOAP services are self-documenting via the WSDL.

C. Either SOAP or REST are suitable for the Web service.

D. REST fully documents data types via the functional interface GET and POST.

E. RESTful services are stateless by definition.

Correct Answer: BE

QUESTION 2

Which two code fragments are valid XML schema anonymous complex type definitions? (Choose two.)
A

B.

C.

D.

Correct Answer: BC

QUESTION 3

A developer has been implementing a Java application that reads in pharmaceutical information via Web service calls,
scans through the data, and presents warnings about possible drug interactions. Performance has been slow, due to the
large payloads returned from the Web services. Which two statements are true about implementing the Web Service
Cache pattern? (Choose two.)

A. Caching must occur on the server.

B. Caching can occur on the client.

C. It will improve performance of updates.

D. It encapsulates a request as an object.

E. It will improve performance for non-volatile data.

Correct Answer: BE
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QUESTION 4

What are three characteristics of JSON Web service messages? (Choose three.)
A. provide interface contracts that are easy to enforce

B. are self-describing

C. utilize a collection of name/value pairs

D. utilize ordered lists of values

E. provide built-in message security

F. allow minimum to no coding of object de-serialization

Correct Answer: CDF

QUESTION 5

A developer plans to refactor some of the company\\'s existing Java EE 5 business services, moving them out of the
existing monolithic application and into Web services. What are two benefits of exposing existing Java EE 5 functionality
as a Web service? (Choose two.)

A. improved manageability

B. more finely-grained

C. enhanced security

D. loose coupling of functionality

E. self-describing

F. automatic session management

Correct Answer: DE
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